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PhenoData day range = 5 - 69
Analysis cutoff day = 69

NC11 P3

2025-06-14 (Day 70)

page



TrussNodeMaxPerStem (Def=6.0 Set=6)

av]56.020% avg2=na

e

0 2 4 6 8 10

Object Number



FruitNumAvgPerTruss (Def=15 Set=4)

avgl=4.0~35% avg2=na

FruitNumMaxPerTruss (Def=na Set=7)
avgl=7.0~11% avg2=na

P3 JrimFrugt
16 ~
o S —
14
6 ° e o ©
12
51 e © e 0 o
10 +
m 87 47
o ° 3.
64 @ o o oo
O O®© ® 0o ®0 000 O
4+ 006 -0 O OB ——— 40— -4 o -- 2 -
°
2 - ° o oo o 1
o
0 - Ba_;el
0 10 20 30 40 50 60 0 10 20 30 40 50 60

Object Number

Object Number



P3

NdL _avgAbsY (Def=na Set=5.27)
avgl=5.27~45% avg2=na

10

#*+*¥+¥f

5-".'.""""‘“'" Lodiadad

[
O -
0 25 50 75 100 125
Object Number
NdD_Q90AbsY (Def=18 Set=20.45)
avgl=20.45~17% avg2=na
30
o
20 ----Z2 ~Eir N -0
p
10 A
0 -
0 25 50 75 100 125

Object Number

FrV_avgAbsY (Def=na Set=121.46)
avglp3 PhégroBtatavg2=na

300 A
¢
200 A t
¢ ¢
S S I
. .
o .
0 25 50 75 100 125
Object Number
FrV_Q90AbsY (Def=179.5 Set=143.41)
avgl=143.41~25% avg2=na
200 A +
* 3
150 R e m e e o--—-
¢
o [
100 ~
¢
50 A
O -
0 25 50 75 100 125

Object Number

LfW_avgAbsY (Def=na Set=43.0)
avgl=43.0~19% avg2=na

60 - ® ®
Y ‘.- ‘. ° o ® ‘ ()
PR A Nl ®-o-9-
[ [
20
0 .
0 25 50 75 100 125

Object Number

LfL_avgAbsY (Def=na Set=39.0)
avgl=39.0~16% avg2=na

Y
Y
(] ® ® .
40—_’_-._0_..._0__}_' o-2 &
) o
L °*q o ) Y
PY °
20 4
Ba_gel
0 2I5 5I0 7I5 160 léS

Object Number



NdL Q90AbsY (Def=5 Set=5.03)
avgl=5.03~9% avg2=na

([
67 °
[ ] . e C ..—..—-—

) [
4 [
2 -
O _

0 25 50 75 100 125

Object Number

LfA_Q90AbsY (Def=0.04 Set=0.07)
avgl=0.07~23% avg2=na

0.10 A
0.08 A
0.06 A

p
0.04

o
__...___..._!____._..____'__

0.02 A
0.00 A

0 25 50 75

100 125
Object Number

LfL_Q90AbsY (Def=40 Set=42.75)
avgP34PKendStatvg2=na

ag =P - -o-g--—--0—-
20 -
0_
0 25 50 75 100 125

Object Number

FrD_Q90AbsY (Def=70 Set=65.2)
avgl=65.2~6% avg2=na

80-|

i >
60 P e ~T®7e T

40 A
20 A

0_

0 25 50 75 100
Object Number

125

LfW_Q90AbsY (Def=30 Set=48.35)
avgl=48.35~12% avg2=na

60 - ° ® J

oo ---@ o
40 A

20 A

0 25 50 75 100
Object Number

125

FrD_avgAbsY (Def=na Set=61.9)
avgl=61.9~13% avg2=na

80 A
(]
000 e %0,
° [
40
20 A
Baz_ez

0 25 50 75 100 125

Object Number



NdD_avgAbsY (Def=na Set=18.22)
avgl=18.22~19% avg2=na

30 A

®
e o2
] ® @ o o
R R TR T
oo ¢ : o ®
10 A
O_
0 25 50 75 100 125
Object Number
NdV_Q90AbsY (Def=12.72 Set=17.03)
avgl=17.03~33% avg2=na
301 ¢
[ J ¢
20 1 o
e & em oo
[ ]
10 A o
eas_eB
0 25 50 75 100 125

Object Number

LfA_avgAbsY (Def=na Set=0.06)
avoR3 PRendSeatvy2=na

¢ o
c .3 ®
_6_ __._‘ _________ P ————

75 100 125

Object Number

NdV_avgAbsY (Def=na Set=16.41)
avgl=16.41~50% avg2=na

50 A
40
30 A
20 A
10 A

75 100 125

Object Number



P3-009-13 (fit failed)

BDL [0.6, 0.68, 3.65, 1.0] =
30 A =
20 T <
10 - o
‘ 4
0
s ol Al
_l T T T
0 20 40 60
P3-045-17 (fit failed)
30 BDL [0.6, 8.07, 1.0, 1.0] y
e
> /
10 - %/@/z@
——
0
R L—— __,r_\r_:,___,-_[_llt\j:\rj: _
'1 T T T
0 20 40 60
P3-075-19 (fit failed)
30 4 BDL [0.57, 0.1, 12.68, 1.0] /

P3-02 NI (fit failed)

BDL [0.68, 0.1, 6.81, 1.0] /

30 +
20 N %
10 - /gfféwg
ol
0
.t
_1 T T T T
0 20 40 60
P3-054-28 (fit failed)
30 - BDL [0.62, 0.1, 14.02, 1.0] /
20 - @@@zgggja)g
o
10 A /99@
0
L 0 qr———- A= =Y
'1 T T T
0 20 40 60
P3-084-11 (fit failed)
304 BDL [0.61, 0.1, 16.94, 1.0] /

P3-034-5 (fit failed)

BDL [0.61, 0.48, 4.39, 0.99]
30 - =
20 - =
10 A
0
5 0 fr=————m- k-_—:_—ﬁjﬁ—‘[:q—_—/——\:“
_1 T T T
0 20 40 60
P3-068-4 (fit failed)
30 4 BDL [0.54, 2.98, 2.65, 1.0] /
20 A = 92/
10 A
0]
5 0 -—————_—\'_"\—_f——\-’!:tf,\:_f:——
'1 T T
0 20 20 60
P3-099-4 (fit failed)
30 - BDL [0.57, 0.1, 16.96, 0.99] L




P3-110-23 (fit failed)

BDL [0.64, 4.56, 1.31, 1.0] o

ge 2 _ -LF\JL\:V‘“‘\:F' -

NdN



P3avc_}\‘l((§'ﬁ failed)

30 A

20 A1

10 -

BDL [0.59, 3.34, 2.66, 1.0]




P3

a (Def=0.56 Set=0.59)
avgl=0.6(fail) avg2=0.59

0.7

0.6 A

0.5 1
0.4
0.3 A
0.2 1
0.1 1

0.0 A

0 2 4 6 8

10
Object Number

12

dm (Def=2 Set=3.34)
avg1=]D;3§\f?Jk)l avg2=3.34

8 - o
6_
o
4_
e ———————
o

0 - o o O 0O

0 2 4 6 8 10 12

Object Number

de (Def=5 Set=2.66)
avgl=8.04(fail) avg2=2.66

17.5 A
15.0 A
12.5 1
10.0 -

7.5 1

o O

5.0
2.5 A
0.09

12
Object Number



InitDev_dm (Def=2 Set=3.89)
avgl=3.89~0% avg2=3.89

InitDev_de (Def=5 Set=3.11)
avgl=3.11~0% avg2=3.11

P3-InitDe\
6 - 5
5 4 1
R ettt LT - --6--- ®- 3 f-—-—--
3
,| @ @ 1 o o
1- 1
04 oPpoel
o 2 4 6 8 10 12 0 2

Object Number

4 6 8 10
Object Number

12



UF

P3-009-13

Linear [0.45, 5.95, -13.37, 0.99] ?g/

'l T T T T
0
20 A
10 2#
(]
0 f—————— = (N P =
'1 T T T T
0 20 40 60
P3-075-19
Linear [0.43, 4.58, -10.67, 0.99] -
y -
20 - //J
10 | /
(0]
O T ———————— —_———,-—,Xh—jzt—\:——
'l T T T T

p3fdb1-19

_1 T T T T
0 20 40 60
P3-054-28
Linear [0.47, 4.54, -9.73, 1.0] v
> ﬁg/
107 /
0]
A R na\ T
'1 T T T T
0 20 40 60
P3-084-11
Linear [0.47, 3.95, -8.49, 1.0] -~
20 A
10 + /
0]
0 S — — - ——
'1 T T T T
0 20 40 60

P3-034-5

20 A

10 A

&

Linear [0.43, 6.7, -15.74,:;&)2(
<

-

P

40
P3-068-4

20 A

10 A

Linear [0.4, 5.47, -13.75, 0.99]/

0 20 40 60
P3-099-4
Linear [0.41, 4.63, -11.3, 0.99] /e,e/




20 A

10 -

P3-110-23 LfN

Linear [0.48, 5.22, -10.92, 1.0] 2/2;‘/’




F3Rv9

25 A
20 A1
15 4
10 A

Linear [0.43, 5.45, -12.58, 0.99]




P3

a (Def=0.42 Set=0.43)
j— ~Q0, — ~ 70
avgl=0.45 P%Aih?!\\{!gZ—OAB 7%

0.5 o
| _g—————-0-® _____® _ __ ____
S e -
0.4 A ()
0.3 A
0.2 A
0.1 A
page 1
0.0 A
0 2 4 6 8 10 12

Object Number



LfN

By Plant/Organ Age

60

50

40

30

20

10

1.0

082 ]

1.0
0.5 1
-1.0

-0.5 +

By Start Date

1.0




P3-009-13

150 A

100 A

50 A

Linear [3.03, -7.6, 2.51, 0.99]

200 A

150 A

100 A

50 A

150 A

100 A

50 A

P2ihb1-19

150 A

100 A

50 A

Linear [3.21, -10.06, 3.14, 0.99]

150 A

100 A

50 A

150 A

100 A

50 A

P3-034-5

200 A

150 A

100 A

50 A

Linear [3.62, -12.65, 3.5, 0.99]

150 A

100 A

50 A

40 60
P3-099-4

150 A

100 A

50 A

Linear [3.22, -7.11, 2.2, 0.99]




P3-110-23

200

150 A

100 A

Linear [3.45, -11.89, 3.44, 0.99]

StH



P3

a (Def=3 Set=3.22)
avgl=3.3%~c§_°él avg2=na

3.5
3.0
2.5
2.0
1.5
1.0
0.5
0.0 §

4 6 8 10
Object Number




StH

By Start Date By Plant/Organ Age
10 y 10 y g g




P3-009-13

pIshbi1-19

Linear [0.15, -0.61, 4.18, 0.99] /

Linear [0.15, -0.73, 4.75, 0.99] /

P3-034-5

Linear [0.16, -0.73, 4.71, 0.99] /

"""" i e o e e
20 40 60
P3-045-17

20 40 60
P3-054-28

Linear [0.15, -1.44, 9.69, 0.99]/

Linear [0.17, -1.45, 8.33, 0.99] /

P3-068-4

Linear [0.15, -1.09, 7.47, 0-99/]/

-
<

20 40
P3-075-19

20 40 60
P3-084-11

Linear [0.15, -1.13, 7.43, 0.98]

Linear [0.14, -0.7, 4.9, 0.99] /

20 40 60
P3-099-4

Linear [0.16, -1.35, 8.42, 0.99]///




P3-110-23 TsN

Linear [0.15, -0.75, 5.09,;//

//




"R

Linear [0.14, -0.69, 4.87, 1.0]




P3

a (Def=0.14 Set=0.14)
avgl=0.15~.b%%!_glx‘|92=0.l4~5%

0.175 ~
0.150 -
0.125 A
0.100 -
0.075 A
0.050 gage 1
0.025 A
0.000 -

I PO S P

2 4 6 8 10 12
Object Number



TsN

By Start Date By Plant/Organ Age

1.0 1.0

_1|0 T T T T T _1.0 T T T T T T
20 30 40 50 60 0 10 20 30 40 50 60
1.0 1.0
0.5 1 0.5 1
00\ e N e /L L Oé)a_g_e_Z _____________________________________
) rf )
-0.5 + -0.5 1
_1|0 T T T T T _1.0 T T T T T T

20 30 40 50 60 0 10 20 30 40 50 60



page 1

P3-009-13T1
Linear [1.18, -15.05, 12.79, 0.98]
10.0
7.5 1
5.0 - /
2.5 1 /ﬁ
0.0
5 0____________________T_____
'1 T T T T
0 10 20 30
P3-009-13T4
8_
Linear [0.43, -14.76, 34.21, 0.98]
6_
4 - /
2 /
0]
L e e e e e IR
'1 T T T T
0 20 40 60
P3-021-19T2
Linear [0.61, -11.47, 18.83, 1.0]
6_
4 - ol
4
2 //f
0
T e o —
'1 T T T T T
0 10 20 30 40

P30Mb-13T2

10 A

Linear [1.28, -26.43, 20.71, 1.0]

(I) 1IO 2I0 3IO 40
P3-009-13T5

Linear [0.42, -16.41, 39.34, 0.98]

0 Zb 4b 60
P3-021-19T3

Linear [0.63, -17.88, 28.58, 1.0]

/
J

V4

P3-009-13T3

6 - Linear [0.44, -12.9, 29.2, 0.97]

0 lb Zb 3b 4b 50
P3-021-19T1 (fit failed)
2.0 1 $

1.5

1.049

0.5 1

0.0

22I.0 22I.5 23I.0 2?;.5 24I.0
P3-021-19T4 (fit failed)
3.0 A S

2.5 A

2.0 A

(0]

1.5 A

1.0 A

0.5 1

0.0 T T T T
50 52 54 56




P3-034-5T1

Linear [0.65, -7.3, 11.24, 0.99] /

0 fO Zb
P3-034-5T5 (fit failed)

57 58 59 60 61
P3-045-17T2

Linear [0.66, -17.08, 25.81, 1.0]

@
V 4
)
/

J

e o o o e o e

P3E6N4-5T2

Linear [0.56, -10.28, 18.27, 1.0] /

A
w
4

fO Zb 3b
P3-034-5T6 (fit failed)

2.0 1

1.5 -

1.04©

0.5 1

0.0 —

61

62 63 64
P3-045-17T3

Linear [0.57, -18.15, 31.58, 1.0]

P3-034-5T3

Linear [0.64, -16.49, 25.89, 0.96]

Zb 50
P3-045-17T1

40

Linear [0.81, -13.25, 16.34, 0.97]

0 10 20

P3-045-17T4

Linear [0.56, -21.1, 37.99, 0.95]




P3-045-17T5

Linear [0.27, -11.49, 41.9, 1.0]

40
P3-054-28T3

Linear [1.01, -28.0, 27.85,

J

@

1.0]

J
J
J
/4

g
Z

1IO 2I0 3I0 4I0
P3-054-28T6 (fit failed)

2.0 A

1.5 A

1.0 A

0.5 A

0]

0.0

@)

62 64 66 68

P3-054-F8¥1 (fit failed)

2.0 A

1.5~

1.0 ¢

0.5 A

v

0.0

24.0

24.5 25.0 25.5 26.0

P3-054-28T4

Linear [0.57, -18.15, 31.58, 1.0]

10 2I0 3IO 4IO
P3-068-4T1

Linear [0.61, -9.05, 14.75, 0.92]

UF

P3-054-28T2

Linear [0.61, -11.47, 18.83, 1.0]

-1+

1|0 2|0 30
P3-054-28T5 (fit failed)
2.0 1 $

40

1.5 4

1.019

0.5 1

0.0 T T T T T
57 58 59 60 61
P3-068-4T2

Linear [0.46, -9.55, 20.76, 0.99]




P3-068-4T3 (fit failed)

3.0 A

2.5 A

2.0 1

1.5 A

1.0 A

0.5 1

0]

0.0

48 50 52
P3-075-19T2

Linear [0.34, -5.3, 15.79, 0.86]

L

'1 T T T T T T
0 10 20 30 40 50
P3-075-19T5
4 - Linear [0.28, -10.72, 38.44, 1.0]
N /
2 1 P
11 #
m J
O e T e T e
'1 T T T T
0 20 40 60

P3-068-2t (fit failed)

3.0 A

2.5 A

2.0 ¢

1.5~

1.0 A

0.5 1

W

0.0

53 54 55 56
P3-075-19T3

Linear [0.62, -17.85, 28.58, 1.0]

e o o o e e T —— )

iO 3b
P3-084-11T1

Linear [0.42, -4.89, 11.78, 1.0] /
4

P3-075-19T1

10.0

7.5 A

5.0 1

2.5 A

Linear [1.11, -19.62, 17.74, 1.0]

0.0

10 20

P3-075-19T4

Linear [0.42, -13.63, 32.32, 0.98]

Zb 40
P3-084-11T2

Linear [0.56, -12.06, 21.5, 0.98]




P3-084-11T3 P308Y4-11T4 P3-084-11T5 (fit failed)

8 .0 1 e
Linear [0.56, -16.55, 29.49, 0.97] 6 - Linear [0.43, -15.55, 36.0, 0.98] 2.0

°] / /

4 4_ “ 15_
4 A / /
2 2] 1.04©

0.5 A
R s e e e L e —
_1 T T T T T T _1 T T T T 0.0 T T T T T
0 10 20 30 40 50 0 20 40 60 61 62 63 64 65
P3-099-4T1 P3-099-4T2 (fit failed) P3-099-4T3
10.0 6 7
Linear [1.02, -15.49, 15.18, 0.99] Linear [0.64, -18.41, 28.71, 1.0] .
75 T 5 4 o 6 -1 'l
5.0 A 7 4 4 #

®
2.5 Z/X 3- 2 #

0.0 /! 2- Q L

S O ———m—mmmm o e 1 R e E L
'1 T T T T 0 T T T T T '1 T T T T T T
0 10 20 30 37 38 39 40 41 0O 10 20 30 40 50
P3-099-4T5 (fit failed) P3-110-23T1 P3-110-23T2

4 ® Linear [0.69, -7.8, 11.38, 1.0] 8 Linear [0.6, -11.41, 18.86, 1.0]
6 z//
6 /
o

61 62 63 64 65 0 10 20 30 0 10 20 30 40



P3-110-23T3 P3-110-78¥4 (fit failed) P3-110-23T5 (fit failed)

, 3.0 1 S 6 -
Linear [0.47, -12.86, 27.63, 0.99]

6 i

¢// 2.5 5
4 Z// 2.04© 4
21 : 1.5 - 3

1.0 A 2
————————————————— t==-- 0.5 14

UF
o
]

T 0.0 T T T T T O T T T T

0 10 20 30 40 50 53 54 55 56 57 57 58 59 60
P3-110-23T6 (fit failed)

3.0

2.5 A

2.0 A

1.5

1.01©

0.5 1

page 6

0.0 T T T T T
65 66 67 68 69



P3

a (Def=0.45 Set=0.56)
avgl=0.%62~g.§l‘\’4> avg2=na

1.4
1.2
1.0
0.8 A
0.6 A
0.4 1

0.2

0.6

15 20
Object Number

25

30

35



P3

By Start Date

1.0

-0.5 A

'1.0 T T T T T T T T T
25 30 35 40 45 50 55 60 65

1.0

'1.0 T T T T T T T T T
25 30 35 40 45 50 55 60 65

FrN

1.0

By Plant/Organ Age

0.5 1

0.0

-0.5 A

-1.0

15 20 25

15 20 25

30 35 40 45



page 1

P3-009-13T1Frl (fit failed)

BetaS [1.49, 24.96, 5.4, 38.08, 0.99] v~ ]
10 T p oo 1
Vad
0.5 A r d
0.0) ra(‘?/rg@
5 0 fp———————— -an——-/ﬁ,———
_1 T T T T
0 20 40 60
P3-009-13T2Fr5
0.8 BetaS [0.94, 38.5, 10.2, 19.13, 1.0]09'
2
0.6 1 4
@
0.4 p
0.2 1 /5
5 O‘ ————————————— L -
'1 T T T T
0 20 40 60
P3-009-13T4Frl (fit failed)
]
0.30 A
0.25
0.20 - °
0.15 +
0.10 A )
0.05 ~
@]
0.00 —= T T T
55 60 65

P3-009/13T1Fr5

0.8 - Beta$S [0.87, 28.88, 6.34, 25.31, 1.0] >
0.6 - 9
0.4

0.2

0.0

“10.025

0 2IO 4IO 60
P3-009-13T3Frl (fit failed)

0.8 1
@)
0.6 1
0.4 1

0.2 1

001ls=a 9

45 50 55 60 65 70

P3-009-13T4Fr5 (fit failed)

0.10 A

0.08 A

0.06 A

0.04 A (¢}

0.02 A

(©)

0.00 ml T T T T
57.5 60.0 625 650 67.5

P3-009-13T2Frl (fit failed)

0.175 A
0.150 -
0.125 ~
0.100 -
0.075 A
0.050 A

0.000 =

@
Q

O

32.5

350 375 400 425
P3-009-13T3Fr5 (fit failed)

45.0

0.5 A1

0.4 1

0.3 A

0.2 1

0.1 1

0.0

O

O

O

50 55 60 65

P3-009-13T5Frl (fit failed)

70

0.20 A

0.15 A

0.10 A

0.05 A

0]

O

0.00 —=

57.5 60.0 625 650 67.5



page 2

P3-009-13T5Fr5 (fit failed)

0.05 A

0.04 A

0.03 A1

0.02 A

0.01 ~

0.00

62 6I4 6I6 68
P3-021-19T2Fr1

0.6 1

0.4 4

0.2 A

Beta$S [0.61, 34.5, 15.05, 12.05, 1.0] =

0 20 40 60

P3-021-19T3Fr5 (fit failed)

0.7 A
0.6
0.5 1
0.4 A
0.3 1
0.2 A
0.1 4

O

0.0

P3-009-13T8Fr1 (fit failed)

P3-021-19T1Frl (fit failed)

0.030 - ® Beta$ [1.81, 23.0, 20.78, 45.0, 0.99] 5
1.0 A o
0.025 P o
/®
0.020 A 0.5 - W
0.015 A ”
0.010 1 0.0 ==
0.005 - L 0 f——-————- = e
O
O-OOO T T T T T _1 T T T T
65 66 67 68 69 0 20 40 60
P3-021-19T2Fr5 P3-021-19T3Frl
1.00 1 BetaS [1.02, 38.22, 10.8, 16.26, 1.0] ¥ BetaS [1.49, 38.5, 20.84, 8.88, 1.0]  /
p 1.0 - ¢
0.75 1 y : /
& @
0.50 - / /
o 0.5 3
0.25 - Z e
sz’f s
0.00 —— 0.0 S
5 0fF-——————————- T T et —r
'1 T T T T '1 T T T T
0 20 40 60 0 20 40 60
P3-021-19T4Frl (fit failed) P3-021-19T4Fr5 (fit failed)
0.175 A v
0.7 - e “
06 0.150 A
0.5 0.125 -
0.4 ? 0.100
0.3 0.075 A O
O
0.2 1 0.050 A
0.1 - c 0.025 A ®
0.0 ® | | | 0.000 1= | | | |
50 55 60 65 70 57.5 60.0 625 65.0 67.5

50 55 60 65 70



page 3

P3-021-19T5Frl (fit failed)

P3-021-19F¥Fr1 (fit failed)

0.10
O O
0.006 A
0.08 A
0.005 -
0.06 A 0.004 -
0.003 A
0.04 -
0.002 A
O
0.02 A
0.001 A
O
0.00 12— | | | 0.000 1+ | | | .
62 64 66 68 65 66 67 68 69
P3-034-5T1Fr5 P3-034-5T2Frl
- - P
06 e 1.00 4 Betas [1.31, 30.0, 2028, 20.2, 1.0]
. o )
¢ 0.75 A o
0.4 1 BetaS [0.68, 25.5, 14.84, 13.41, 1.0] o
s 050 T 7
p '@
0.2 A / 0.25 - /
P
0.0 —= 0.00 ==
5 0———————————X-'__ﬂ.7"=——— 5 0 fr———mem e e =
'1 T T T T '1 T T T
0 20 40 60 0 20 40 60
P3-034-5T3Frl P3-034-5T3Fr5 (fit failed)
1.00 -
BetaS [0.96, 41.5, 13.29, 8.87, 1.0] & 0.5 - @
0.75 -
L/ 0.4 ~
0.50 ~ 4 )
@' 0.3 1
0.25 £/
0] O
0.00 coatf 021
@
5 [ £ e - 0.1+
]
'1 T T T T 0.0 T = O T T T T T

45 50 55 60 65 70

P3-034-5T1Frl

0.8 1 e
G o
0.6 4
0.4 BetaS [0.85, 22.21, 15.42, 19.0, 1.0]
0.2 f@r)f
O.G) m@ )
5 0f———————= = =
'1 T T T T
0 20 40 60
P3-034-5T2Fr5
0.6 1 BetaS [0.8, 39.5, 12.36, 22.19, 1.0] @-"
lo'
0.4 1 P
o
0.2 1 g
@
5 o______________;\_ ]
‘1 T T T
0 20 40 60
P3-034-5T4Frl (fit failed)
o
0.6
0.5 4
0.4 - &
0.3 4
o
0.2
0.1 - e
0.0 -2— . .
55 60 65



P3-034-5T4Fr5 (fit failed)

0.25 -

0.20 -

0.15 A

0.10 -

0.05 ~

V)

0.00

5I5 6IO 65
P3-034-5T6Fr1 (fit failed)

0.06 A

0.05 A

0.04 ~

0.03 -

0.02 A

0.01 ~

]

0.00

62

6I4 6I6 68
P3-045-17T2Frl

0.8 A
0.6 1
0.4 1

0.2

Beta$S [0.89, 39.0, 15.99, 6.48, 1.0] ,@ -
4

o

0.0

P3-034-5TB¥r1 (fit failed)

0.20 A

0.15 A

0.10 A

0.05 A

0.00 —=

O

57.5

60.0 62.5 65.0 67.5

P3-045-17T1Frl

0.6 A

0.4

0.2

0.0

2IO 4IO 6I0
P3-045-17T2Fr5 (fit failed)

0.5 A

0.4

0.3 A

0.2

0.1

0.0 -+

Q

45

50 55 60 65

70

P3-034-5T5Fr5 (fit failed)

0.05 A1

0.04 A

0.03 A1

0.02 ~

0.01 ~

0.00

62

6I4 6I6 68
P3-045-17T1Fr5

0.4 4

0.3

0.2 A

0.1 4

D\

0.0

0 20

4I0 6I0
P3-045-17T3Fr1 (fit failed)

1.50 A

1.25 A

1.00 A

0.75 A

0.50 A

0.25 A

0

@)

0.00

70



P3-045-17T3Fr5 (fit failed)

0.35 A
0.30 ~
0.25 A
0.20 A
0.15 ~
0.10 A
0.05 A

O

0.00

@)

5I5 6IO 65
P3-045-17T5Fr1 (fit failed)

0.020 -

0.015 A

0.010 -

0.005 A

@)

0.000

62 6I4 6I6
P3-054-28T2Fr5

0.6

0.4

0.2

page 5

60

P3-045-17FXFr1 (fit failed)

0.20 ~ e
0.15 ~
0.10 ~
O
0.05 ~
o
0-00 — T T T T T
57.5 60.0 625 650 67.5
P3-054-28T1Frl
BetaS [0.56, 24.0, 16.21, 11.23, 1.0] ¥
y
0.4 £
)'
0.2 - ’
A
0.m paVaVal-y|
5 0f+-————————=>—— -
-1 T T T T
0 20 40 60
P3-054-28T3Frl
0.8 7 BetaS [0.81, 42.0, 13.58, 8.39, 1.0] §
0.6 £
0.4 - 4
¢
0.2 - £
@
0.0 -4
5 0 f——————m .
_1 T T T T
0 20 40 60

P3-045-17T4Fr5 (fit failed)

0.08 A

0.06 A

0.04 A

0.02 A

0.00

62 64 66 68
P3-054-28T2Fr1 (fit failed)

0.06 A

0.05 A

0.04 A

0.03 A

0.02 A

0.01 A

0.00

O

3I4 3I6 3I8 4IO 4I2
P3-054-28T3Fr5 (fit failed)

0.4

0.3 1

0.2

0.1 1

0.0

@)

45

50 55 60 65

70



P3-054-28T4Frl (fit failed)

(1]
0.35 - D.0006 -
0.30 - D.0005 -
0.25 1 ¢ D.0004 1
0.20 1
o D.0003 -
0.15 -
D.0002 -
0.10 -
O
0.05 1 D.0001 -
Q@
0.00 — T T T .0000 T T T T T
50 55 60 65 70 53 54 55 56 57
P3-054-28T6Frl (fit failed) P3-068-4T1Frl (fit failed)
0.12 - 0.30 1 °
0.10 - 0.257
0.08 0.20 e
0.06 - 0.15 1
O
0.04 ° 0.10 A
]
0.02 - 0.05 -
O
0.00 -=— . . . 0.00lereo ° .
62 64 66 68 25 30 35
P3-068-4T2Frl P3-068-4T2Fr5
0.8 1 BetaS [0.8, 35.0, 16.25, 9.63, 1.0] Beta$S [0.69, 41.41, 14.6, 17.55, 1.0] /
I:D (;J
061 # 0.4 1 4
0.4 1 4 d
¢ 0.2 A1 ol
0.2 - / o
0.0 Mj 0.0 ccetf
5 0f————————— PagEbme——— | 5 () o ——— A -
'1 T T T T '1 T T T T
0 20 40 60 0 20 40 60

P3-054-2dTXFr5 (fit failed)

P3-054-28T5Frl (fit failed)

0.010 A

0.008 A

0.006

0.004 -

0.002

O

0.000

O

57.5

60.0 62.5 65.0 67.5

P3-068-4T1Fr5

0.4 A

0.3 A

0.2 A

0.1 4

Beta$S [0.4, 34.0, 16.55, 15.03, 0.99] :"

V4

0.0

2I0 4I0 60
P3-068-4T3Fr1 (fit failed)

0.25 -

0.20 A

0.15 ~

0.10 A

0.05 ~

0.00

@

50 55 60 65

70



0.4 1 o | 0.254 o}
0.3 _ 020 T
O
0.15 -
0.2 0
o 0.10 +
0.1
0.05 ~ o
O
O
0.0 12— | | 0.00 12— |
55 60 65 55 60 65
P3-068-4T5Frl (fit failed) P3-075-19T1Frl (fit failed)
0.012 50.0175
0.010 - D.0150 -
D.0125 -
0.008
D.0100 - .
0.006
D.0075 -
0.004 7 ).0050 -
O
0.002 15 D.0025 -
O
0.000 1+ . . . —0.0000 % . . . .
65 66 67 68 69 28 30 32 34 36
P3-075-19T2Frl1 P3-075-19T2Fr5 (fit failed)
[ -
BetaS [1.31, 30.5, 16.9, 10.97, 1(')3) 0.150 -
1.0 P
& 0.125 -
0.5 - 2 0.100 -
y O
“‘4/ 0.075 A
0.0 = 0.050 -
@]
5 0fp———mm——m—————— === () 025 -
O
'1 T T T T 0000 = T O T T T T
0 20 40 60 36 38 40 42 44

P3-068-4T3Fr5 (fit failed)

P3-068-4TB¥r1 (fit failed)

P3-068-4T4Fr5 (fit failed)

O
0.025 A
0.020 A
0.015
0.010 A
O
0.005 A
(©]
0.000 =+ . . . .
57.5 60.0 625 65.0 67.5
P3-075-19T1Fr5
ot & <
0.4 7
®
BetaS [0.51, 34.0, 10.85, 10.71, 1.0]
0.2 - D/;’)
;[5@
&
0.0 ol
5 0 p——————f—_——— aa -
'1 T T T T
0 20 40 60
P3-075-19T3Frl
0.6 1 BetaS [0.6, 42.0, 13.68, 8.21, 1.0] ¢/
I(D'
0.4 A 1
;’3
0.2 - #
@o
O'm cv:f;\g
wopRel
'1 T T T T
0 20 40 60



P3-075-19T3Fr5 (fit failed)

P3-075-19FXFr1 (fit failed)

5] 0.5- =
0.4 - 04-
o
0.3 1 0.3 1 ?
O
0.21 0.2 o
@]
0.1 A 0.1
@]
()
0.0l=o, . . 0012 . .
50 55 60 65 70 50 55 60 65 70
P3-075-19T5Frl (fit failed) P3-075-19T5Fr5 (fit failed)
0.14 ©10.014 0
0.10 A 0.010 A
0.08 0.008 A
0.06 A & 0.006 A
0.04 - 0.004 -
0.02 A 0.002 A
® O
0-00 T T T T T 0.000 T T T T T
57.5 60.0 62.5 65.0 67.5 65 66 67 68 69
P3-084-11T1Fr5 P3-084-11T2Fr5
Beta$ [0.35, 28.55, 19.3, 11.61, 1.0] ¥ BetaS [0.74, 40.0, 11.9, 11.06, 1.0] *
0.3 1 af 0.6 /2
oy 3
0.2 - ¥ 0.4 - J
y /
0.1 4 4/ 0.2 4 '@
0.0 = 0.0 mﬁff
5 0+—-——-——————- —= -1 5 0———————————————-\-‘— -
page 8
'1 T T T T '1 T T T T
0 20 40 60 0 20 40 60

P3-075-19T4Fr5 (fit failed)

0.30 A1

0.25 A

0.20 A

0.15 ~

0.10 A

0.05 A

O

0.00

55 60 65
P3-084-11T1Frl

1.00

0.75 A

0.50 A

0.25 A

Y4
Beta$S [0.95, 23.0, 12.74, 19.37, 1.0]

0.00

iO 40 éO
P3-084-11T3Fr1 (fit failed)

0.5

0.4 A

0.3 4

0.2 A

0.1 4

O

I\mO

0.0

45 50 55 60 65 70



P3-084-11T3Fr5 (fit failed)

0.5 1

0.4 1

0.3 1

0.2 1

0.1

0.0

PN

[}

0]

@

)

50 55 60 65
P3-084-11T5Frl (fit failed)

70

0.10

0.08 A

0.06 A

0.04 A

0.02 A

0.00

@)

6I2 6I4 6I6 6I8
P3-099-4T2Fr1 (fit failed)

0.08 A

0.06 A

0.04 A

0.02 A

O

o) page 9

0.00

38 40 42 44

P3-084-11FXFr1 (fit failed)

0.5 A

0.4

0.3 1

0.2 1

0.1 1

0)

0.0

)

5I5 6I0 65
P3-099-4T1Frl (fit failed)

0.08 A

0.06 A

0.04 A

0.02 ~

0]

QO

la) (@) hd

0.00

25.0 27.5 30.0 32.5 35.0 37.5

0.8 1
0.6 1
0.4 1
0.2

P3-099-4T2Fr5

BetaS [1.14, 39.5, 14.3, 19.2, 1.0] o

0.0

P3-084-11T4Fr5 (fit failed)

0.20 A

0.15 ~

0.10 A

0.05 A1

0.00

@)

0O

60.0 62.5 65.0 67.5

P3-099-4T1Fr5

57.5

0.8

0.6 1

0.4

0.2

0.0

0_

-1

2IO 4I0 60
P3-099-4T3Frl (fit failed)

0.6 1

0.5 1

0.4 1

0.3

0.2 1

0.1 1

0]

0.0

45

50 55 60 65

70



P3-099-4T3Fr5 (fit failed) P3-099-4T4¥r1 (fit failed) P3-099-4T5Fr1 (fit failed)

@ ] @]
0.8 1 0.6 1 0.175
s 0.5 0.150 -
0.6
0.125 A
0.4 3
0.100 -
0.4 - 0.3
o 0.075 -
0.2
0.2 4 . ’ 0.050 - °
0.1 i
. o 0.025
0.0 Ll=—2, ' ' ' 0.0 t=— ' ' 0.000 -2— ' ' '
50 55 60 65 70 55 60 65 62 64 66 68
P3-099-4T5Fr5 (fit failed) P3-110-23T1Frl P3-110-23T1Fr5
1.00 ~ —
? AU 0.6 a
0.025 4 Y
075 T W QI
0020 _ ch 04 N 2
0.50 - BetaS [0.94, 20.74, 11.47, 12.83, 1.0] BetaS [0.63, 28.5, 13.01, 10.88, 1.0]
0.015 0.5 azﬂﬂ 0.2 //ff

e ol
0.005 A 5 0t+——=——==== = —— 5 0-———————..__;\“/*_—__

O

0.000 T T T T T -1 T T T T -1 T T T T
65 66 67 68 69 0 20 40 60 0 20 40 60
P3-110-23T2Frl P3-110-23T2Fr5 P3-110-23T3Frl
0.8 - " —
o BetaS [0.83, 37.34, 16.9, 16.14, 1.0] / &
/ 0.6 7~ 0.6 1 f
0.6 y ' p [
Y / #
0.4 - BetaS [0.76, 30.5, 16.7, 10.67, 1.0] | 0.4 - # 0.4 1 BetaS [0.69, 42.17, 12.07, 6.31, 1.0]
7 @ é
0.2 1 0.2 1 y 0.2 1 /
4 o ®
0.0 - 0.0 cca® 0.0 —
R - B —— B 8 T B N N —
_1 T T T T _1 T T T T _1 T T T T




page 11

P3-110-23T3Fr5 (fit failed)

0.5 A

0.4 1

0.3 A

0.2

0.1 1

0.0

O

@)
e

5IO 5I5 6I0 6I5
P3-110-23T5Fr1 (fit failed)

70

0.20 A

0.15 A

0.10 ~

0.05 ~

O

@

o

0.00

575 60.0 625 650 67.5

P3-110-23FFXFr1 (fit failed)

0.6

0.5 1

0.4 1

0.3 A

0.2 A

0.1

0.0

(©)]

O

O

5I5 6I0 65
P3-110-23T5Fr5 (fit failed)

0.08 -

0.06 A

0.04 ~

0.02 A

0.00

62 64 66 68

P3-110-23T4Fr5 (fit failed)

0.10

0.08 A

0.06 A

0.04 A

0.02 A

0.00

0

0

57.5 60.0 625 650 67.5

P3-110-23T6Frl (fit failed)

0.014 ~
0.012 ~
0.010 A
0.008 ~
0.006 ~
0.004 ~
0.002 ~

O

O

0.000

65

66 67 68

69




Ymax (Def=1 Set=0.76)
avgl=0.76~31% avg2=na

()
1.5 -
.
m 1.0 .‘_. | o ' @
[ () o
s e oo
0.5 A
o ¢ °
0.0 -
0 10 20 30
Object Number
de (Def=15 Set=11.42)
avgl=11.42~44% avg2=na
)
40“()
30 +
20 A + ¢ + o
ot *4. *+,¢
10777%¢" -.i.-." -pﬂ o-
®apel
0 10 20 30

Object Number

tb (Def=na Set=na)
avgl=3aPFRAP% avg2=na

4041 oo o’}+’ .to ..
30—“._. _____ ¢ .'..;_{o_;_;_
20_% o te S
10 1

0

0 10 20 30

Object Number

dm (Def=18 Set=14.6)
avgl=14.6~22% av92=na

20{¢ ¢ + 0
12 -.*MT»TI; ﬂ"'
5_<>+

Object Number



P3

By Start Date

1.0

0.5 1

0.0

-0.5 A

-1.0

1.0

0.5 1

0.0

-0.5 A

-1.0

By Plant/Organ Age

-1.0




UF

UF

P3-009-13L10

o2
A
1.0 1 N
BetaS [1.16, 16.0, 5.49, 9.71, 0.98]
0.5 A j
0.0
0 [ § P R jj_ -
'1 T T
0 20 40 60
P3-009-13L21 (fit failed)
1.2 1 O
]
1.0 A O
0.8 ®
0.6 A
0.41°
0.2 A
00 T T T
55 60 65
P3-021-19L10 (fit failed)
1.5 A a e
[ 2 E—
r{)k}jx
10 N Bt
BetaS [1.43, 14.0, 3.6, 19.11, 0.96]
05 e ‘
0.0 L
O i | I —" A I - ——
1 page 1l
0 20 40 60

UF

UF

P3-009-15%15 (fit failed)

e e o 3
2.0 C;F@i» —=
A
BetaS [2.08, 30.0, 3.74, 6.63, 0.98]
1.0 - »
0.5 - /
0.0 4
0+-—-——-————="-=-—- ’\ﬂ-———
'1 T T T T
0 20 40 60
P3-009-13L23 (fit failed)
()
1.2 -
@
1.0 1
(]
0.8 -
0.6
0.4
0.2
0-0 T T T T
62 64 66 68
P3-021-19L15 (fit failed)
209
1.5 4 OQ ee
1.0 -
0.5 4 o
BetaS [1.6, 28.0, 6.45, 9.18, 0.98]
0.0 - ~
0 ______________AY\T—__
'1 T T T T
0 20 40 60

P3-009-13L18 (fit failed)

1.0
0.8
0.6 1

0.4 4

0.2 A

0.0 =

O

® @

45

50 55 60 65
P3-009-13L7 (fit failed)

0.6

0.4 4

0.2 A

0.0

5.0, 7.65, 12.6, 0.96]

2IO 4IO 6IO
P3-021-19L18 (fit failed)

1.50 -
1.25 1
1.00 1
0.75 A
0.50 A

0.25 A

(e) 0

(]

0.00 ——
45

50 55 60 65 70



P3-021-19L21 (fit failed)

(@)
15¢@©
1.0 A
0.5 A
0.0 T T T
55 60 65
P3-034-5L12 (fit failed)
P -dgg;p-cj. Q.O-O.Q -
/ e
2 - / =
BetaS [2.37, 9.43, 3.67, 9.06, 0.0]
1- /
m Y 4
o N, N ——— -
-1+ T T
0 20 40 60
P3-034-5L22 (fit failed)
2.0 A o
QO
1.5 A
@)
1.0 A
O
0.5 A
0.0 T T T T T
57.5 60.0 625 650 67.5

P3-021-19¥%4 (fit failed)

o)
0.8 1 @)
O
0.6 +
@
0.4 -
0.2 1
0.0 T T T T T
57.5 60.0 62.5 (_35.0_ 67.5
P3-034-5L15 (fit failed)
'O'a-@ e _
)
1.0 [3'
BetaS [1.35, 30.0, 9.35, 10.99, 0.99]
0.5 - rd
0.0 =
5 0________________;’1___
'1 T T T T
0 20 40 60
P3-034-5L6 (fit failed)
0 22%¢9
0.8 T
()
0.6 + s
0.4 7
0.2 1 A'b
BetaS [0.87, 5.0, 5.65, 18.05, 0.97]
0.m ) | ——
5 0 +=—————— J__LYW__ -
'1 T T T T
0 20 40 60

P3-021-19L6 (fit failed)

0.8

0.6 A

0.4 A

0.2 A

e _a
- m maom
(_ﬁ

m
T s aan
BetaS [0.78, 5.0, 4.98, 21.97, 0.98]

0.0

0 20

4I0 60
P3-034-5L19 (fit failed)

2.0 1

1.5 4

1.0 A

0.5

O

(@)
L 4

O

0.0

5I5 6I0 65
P3-034-5L9 (fit failed)

1.5 4

1.0 -

0.5 1

_ Aﬁ-a-s@e--

BetaS [1.73, 0.5, 5.87, 24.88, 0.92]

| =]




P3-045-17L12 (fit failed)

2.0
*@-@-3

'1 T T T
0 20 40 60
P3-045-17L21 (fit failed)
O
1.0 - - ¢
0.8 A
@)
0.6 A
0.4 A
0.2 A
00 T T T T T
57.5 _60.0 625 65.0 67.5
P3-054-28L10 (fit failed)
OOO @090
1.5 4 B
/ O
l' O
1.0 A 7 (]
/ o)
0.5 - s
/ BetaS [1.49, -0.31, 3.68, 8.46, 0.0]

0.0

O J N S— —

page 3
'1 T T T T
0 20 40 60

P3-045-15115 (fit failed)

— D 0 e

1.5- qe®
/
1.0 @
0.5 /
BetaS [1.64, 33.0, 5.1, 7.9, 0.96]
0.0
5 0 f————m——t——————at- Y
'1 T T T T
0 20 40 60
P3-045-17L24 (fit failed)
L7
0.5 -
O
0.4
0.3
0.2
0.1-
0.0 T T T T
65 66 67 68 69
P3-054-28L13 (fit failed)
8.0 .0
0.8 [\ooc .
06 . J k“
BetaS [0.92, 26.0, 4.87, 11.49, 0.96]
0.4 - ye
0.2 - /
0.0 4
'1 T T T T
0 20 40 60

P3-045-17L18 (fit failed)

0.8

0.6 A

0.4 4

0.2 A

o) O
O

0.0

55

6I0 6I5
P3-045-17L6 (fit failed)

0.6 A

0.4 A

0.2 A

vﬂpe:a@e-g.f) -

BetaS [0.63, 4.0, 7.71, 16.26, 0.98]

| —

______ A

2IO 4I0 6I0
P3-054-28L16 (fit failed)

1.0

0.8 1

0.6

0.4 A

0.2 A

O

® 9]

® O

0.0

45

50 55 60 65



P3-054-28L19 (fit failed)

1.0 A

0.8 -

0.6 -

0.4 1

0.2

O
@

)

0.0

52.5

' 550 575 600 62.5
P3-068-4L10 (fit failed)

65.0

1.5 A

1.0 A

0.5 1

- 200000

Ojcrﬂf

2IO 4I0 60
P3-068-4L19 (fit failed)

1.50 A
1.25 A
1.00 -
0.75 A
0.50 A

0.25 A1

Q)

@)

0.00

575 60.0 625 650 67.5

P3-054-268¥92 (fit failed)

0.7 1
0.6
0.5 A
0.4
0.3 A
0.2 1
0.1 1

0.0

58 60 62 64
P3-068-4L13 (fit failed)

2.0

1.5 4

1.0

0.5 1

0.0

cor Qo aon A -

2IO 4IO 60
P3-068-4L22 (fit failed)

0.8 A

0.6 1

0.4

0.2 A

(3]
L 4

0.0

65

P3-054-28L7 (fit failed)

0.8 A vt
T
0.6 f
0.4 1 y
0.2 /
BetaS [0.81, 2.5, 6.22, 19.56, 0.97]
Olm s | -
0 t———————te ,.L\_/__i__’_—__
'1 T T T T
0 20 40 60
P3-068-4L16 (fit failed)
1.2 o
O 0]
@
1.0 -
@
0.8
0.6 -
O
0.4 1
0.2
0-0 T T T T
50 55 60 65 70
P3-068-4L7 (fit failed)
ﬁ@@.@ e .O-Q O
0.8 - fcf
0.6 .
. Beta$S [0.88, 5.0, 10.83, 8.32, 0.98]
0.4 rJ
0.2
0.0 -
Ped - /_L\, .
'1 T T T T
0 20 40 60



page 5

UF

P3-075-19L12 (fit failed)

1.5 A

1.0 A

0.5

-0 0
- 0
' 4

BetaS [1.54, 2.0, 7.4, 23.18, 0.84]

0.0

—————————————— ;I\j_——

0 20 40

60
P3-075-19L21 (fit failed)

1.2496

1.0 A

0.8 1

0.6 1

0.4 A

0.2 A

A J

L4

0.0

1.5 4

1.0 A

0.5 1

65 66 67 68
P3-084-11L13 (fit failed)

69

- mr 3 O
C}‘: w
C

P3-075-19%15 (fit failed)

1.4 A
1.2 A
1.0 A
0.8 1
0.6 1
0.4 1
0.2
0.0

0]

[
@ O

O

O

45 50 55

60 65 70
P3-075-19L6 (fit failed)

0.4 1

0.2

) ”ﬁ“;@—go-%-d v
p

) Beta$S [0.51, 1.5, 3.62, 20.35, 0.96]

5 0 F+———————— {L‘\ - -
-1

0

Zb 4b Gb
P3-084-11L16 (fit failed)

1.4~
1.2 A
1.0 A
0.8 A
0.6 1
0.4 1
0.2 1

O

0]
O

O

0.0

50 55 60 65 70

P3-075-19L18 (fit failed)

0.8 A

0.6 1

0.4

0.2 A

® 0]

O

0.0

55 60 65
P3-075-19L9

0.8 1
0.6
0.4 1
0.2

Hﬁ 020 g
Jﬁ’ :
Al

BetaS [0.91, 12.5, 8.95, 9.33, 0.98]

0.0

Zb 4b 6b
P3-084-11L19 (fit failed)

1.0 A

0.8 A

(D)

0.6 -

0.4 1

0.2

0.0

57.5 60.0 625 650 67.5




P3-084-11L22 (fit failed)

0.6

0.5 A

0.4 1

0.3 A

0.2 1

0.1 -

0.0

62 64 66 68
P3-099-4L12 (fit failed)

/ C

2IO 4I0 60
P3-099-4L21 (fit failed)

1.2

1.0 A

0.8 A

0.6 1

0.4 1

0.2

0.0

62 64 66 68

P3-084-1R6 (fit failed)

0020200
0.6 - /M’ f
Q
0.4 + @/’
0.2 A o,
BetaS [0.7, 1.5, 8.94, 14.07, 0.96]
O.m | — |
5 0 H+—————— _./'_,La__ -
_1 T T T
0 20 40 ) ) 60
P3-099-4L15 (fit failed)
1.75 o % ®
@
1.50 ~
]
1.25
1.00 ~ °
0.75
0.50 A
O
0.25
0-00 T T T T T T
45 50 55 _60 ] 65 70
P3-099-4L6 (fit failed)
OC?@@GG'@'Q -0 @
0.6 + [(\
0.4 + ;J
0.2
BetaS [0.72, 5.0, 8.12, 12.3, 0.98]
0.m | —
5 0 H+—————— [X_\,_ -
'1 T T T
0 20 40 60

P3-084-11L9 (fit failed)

:):,()J; > -89 e _
1.0 (P"” {
ﬂo
A
0.5 + y
BetaS [1.16, 7.5, 3.95, 21.38, 0.96]
0.0 < —
O - ————————— _[A____—__
'1 T T T T
0 20 40 60
P3-099-4L18 (fit failed)
0)
1.0 6
O
0.8 A
o
0.6 -
0.4 A
0.2
0-0 T T T T T
57.5 60.0 625 650 67.5
P3-099-4L09 (fit failed)
eop©®®
15 '. - ,:O@Q;QQO ........
. J, O\-/
/ O
1.0 BetaS [1.64, 13.1, 4.19, 4.16, 0.0]
0.5 - /
0.0 -
4 R —— a
'1 T T T T
0 20 40 60



P3-110-23L10 (fit failed)

1.00 A
0.75 A
0.50 A

0.25 -

BetaS [1.07, 16.0, 3.6, 14.9, 0.95]

| 1

0.00

-

Zb 4b 6b
P3-110-23L20 (fit failed)

1.0 -
0.8 1
0.6 1"
0.4

0.2

) @
0

0.0

55 60 65

P3-110-25%14 (fit failed)

1.5 4

1.0 A

0.5 1

- B
C}:O

L
)

BetaS [1.51, 26.48, 3.6, 13.3, 0.97]

0.0

0 Zb 4b 60
P3-110-23L23 (fit failed)

1.75 ~
1.50 ~
1.25 A
1.00 A
0.75 A
0.50 A1
0.25 A

[

0.00

62 64 66 68

P3-110-23L17 (fit failed)

Q@
1.50 - P e O
O
1.25 -
(]
1.00 1
0.75 14
0.50 -
0.25 -
0.00 T T T T T T
45 50 55 60 65 70
P3-110-23L6 (fit failed)
o @
0.6 - __9®
® @
CO
0.4 -
0.2- _
BetaS [0.58, 0.5, 4.94, 16.95, 0.92]
0.0 +—= o
- d)agej_____.__[_\_\__[—__
'1 T T T
0 20 40 60



P3

Ymax (Def=1 Set=1.16)
avgl=1.16~40% avg2=na

2.5 A o
2.049 ® ©
10) O]
151 o 0 o0 %9
1.0 —— ettt A= akks o snidm
' (o] Uy O
(©) (©) © O
054 ° © o ©
0.0 -
0 10 20 30
Object Number
de (Def=12 Set=14.07)
avgl=14.07~34% avg2=na
2 -
5 O] b
20 A

15 4

ARALRA

a

10 -

pape 1

o

KR

10 20 30

Object Number

tb (Def=na Set=na)
avgl=1®35~fA9% avg2=na

)
30 !
o)
ol P
20 ___|___Ld__plodqd 1 - ]
) o)
e 1o ¢
© o
) <i> (i) ! )
0 o [TolT] [$P© ©
0 10 20 30

Object Number

dm (Def=12 Set=12)
avgl=7.22~34% avg2=na

12.5 -
¢
10.0 - & Oo
)
7.5 - b NEROJMERRF QNN o AN
b (O]
sod e 19710] & N P
b 1o [ |d] lof |Yo] |dd|P |“dd
2.5 4
0.0 +
0 10 20 30

Object Number




LfA

By Start Date By Plant/Organ Age

P3

1.0

0.5 1

NAa ] 0.0 b ommmmmm [

-0.5 A

30 35 40 45 50 55 60 65 0 10 20 30 40 50

1.0

0.5 1

ape 2

-0.5 A

30 35 40 45 50 55 60 65 0 10 20 30 40 50



FI_ dm (Def=5 Set=6.23)
avgl=6.23~13% avg2=6.16~4%

o o
8 T o ()
o 8% ole’ % O.8%0
Ird o—2¢
4 - ®
2 .
0 .
0 20 40 60
Object Number
FrV_de (Def=15 Set=14.55)
avgl=14.55~11% avg2=14.12
o O @
15J. ___________________ ==
_____ === =—===—=====c==P=°
S =
[
10 A
5 .
0 -
0 20 40 60

Object Number

FI_de (Def=5 Set=6.23)
avgl=6.23p3A Phavg2=6.16~4%

o o
8 N . .
o %80 odelo%, 0000
2 o—29¢
4 o
2 .
0 .
0 20 40 60
Object Number
FrN_a (Def=0.45 Set=0.63)
avgl=0.63~40% avg2=0.69~38%
o
1.5 ¢
®
o
1.0 e
. n [ 4 o TR Y
:::!:'.':-:::%9!: ———==—==o
0.5 - do % ¢,
' [ )
® e
0.0 ~
0 20 40 60

Object Number

FrV_dm (Def=18 Set=18.6)
avgl=18.6~11% avg2=18.06

zo_L o0 o
————— 1—————————————— —
® 0
15 - o
10 1
5_
o_
0 20 40 60

Object Number

FSDdevStage (Def=0.01 Set=0.07)
avgl=0.07~97% avg2=0.08~12%

0.3 -
° o o0
0.2 -
®eo é
0.1 -
pa :e.-is!:c '..'.(:_Z..':"i?: _&::.:.'%!
P oo o ° ®
0.0 - ®
0 20 40 60

Object Number



FGDdevStage (Def=0.7 Set=0.7)
avgl=na avg2=na

FMBDdevStage (Def=1.3 Set=1.3)

aveR 3 Mhevg2=na

1.0 1.0
0.8 A 0.8
0.6 A 0.6 A
0.4 A 0.4 A
0.2 A 0.2 1
0.0 T T T T 0.0 T T T T
0.0 0.2 0.4 0.6 0.8 1.0 0.0 0.2 0.4 0.6 0.8 1.0
Object Number Object Number
FHDdevStage (Def=1.5 Set=1.32) NNgen (Def=10 Set=7)
avgl=1.32~1% avg2=1.01 avgl=7.0~7% avg2=7.3
1.5 10
________ .__________.____
® 89 e o
10_ ______________________ P ::‘.#:‘:::::Fv:‘:.:’::
. 6
0.5 47
2 -
0.0 6%¢° 2
0 20 40 60 0 20 40 60

Object Number

Object Number

FMEDdevStage (Def=1.8 Set=1.8)

avgl=na avg2=na

1.0

0.8 A

0.6 1

0.4

0.2

0.0
0.0

0.2

0.4 0.6
Object Number

0.8

1.0



LfA: avg vs. d at each age group
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LfA: model est vs obsOv@Q50
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NdD: model est vs obsOv@Q50
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dStH: avg vs. d
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dStH: obsAvg vs obsOv@Q50
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dStH: D_5d_StH
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FrV: model Est vs obsFrV at Q90
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FrV: obsFrV vs obsFrV@Q90
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P3 FrV: D_Frl_FrV
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FrV: D_Ts_FrV
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FrV: D_Q50_FrV
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P3 FrV: D_Est_FrV
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P3 FrV: sfDem
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